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. Area of a square with side s: A= 3

. Area of a rectangle with width w and length i

BACKGROUND KNOWLEDGE FOR CALCULUS
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A= A v

1)

. bh
Area of a right triangle with base b and height h: A= s
4= Tv*
. Area of a circle with radius r: = T+
. Circumference of a circle with radius r: C= 2 Ty
Volume of a box with with w, length I and height h: Ve dw h

7
Volume of a cylinder (i.e., a can) with radius 7 and height A: V=Ttv " L‘

L~ ] '\L
Surface area of a cylinder with radius » and height A: ik o+ Zqy

L = et L?

Pythagorean Theorem:

Diagonal of a square with side s: f/i? ol = sz

Side of a square with diagonal d: il _
A= “}’Ji Vbhetlpe.
Quadratic formula (to find roots of az? + bz + ¢ = 0): - e
- . - “Z
Expansion of {(a + )2 a2t Lalp o b

£t 2ok £ é‘L

Expansion of {(a — )%

T
Definition of sina in terms of sides of a triangle: ?m‘;}?‘?
Definition of cosa in terms of sides of a triangle: ng / !V;/f
A
Definition of tan o in terms of sides of a triangle: [Wf“’(;f : 7
LodE —L
The values of sina, cos a, tan a, if o is 30° = #/6: 2oy 2 . 3
. . = &
The values of sina, cosa, tan a, if o is 60° = x/3: 2 32 :
J R
The values of sina, cosq, tana, if a is 45° = 7/4: 2 W /
The values of sin e, cosa, tana, if a is 0°: < ! ©
The values of sina, cosa, tana, if a is 90° = 7/2:
The values of sin a, cos a, tan o, if & is 180° = =: £ —] <

True or False?: va? + b2 = a 4+ b. Why (not) (i.e., prove or give a counter-example)?

foloe _no diey = & Sopdi= 111=2

Sl = Pl s X

What is sin 2z in terms of trig functions of =7

|~ caix
T

o2
What is sin? z in terms of trig functions of 227 Lo X




27.

28.

29.
30.
31.

32,

i | e
What is cos? z in terms of trig functions of 2z? Ve =

What is the standard trig version of the pythagorean theorem (i.e., inter-relate sinz

and cos z somehow)? .~ X + Gt |
2
Given sina = 5/13. what is cot a? _'“’/5
' 27 ¥ it
Given sin a = 4/5, what is sin 2a.? ¢i/xs

Calculate the area of a circle, given that the circumference equals 10x. ﬁl_

Calculate the area of a right triangle, with one side equaling 3 and the hypotenuse
equaling 5. =

;'Q”L;\ o 7 fl— P4 Ot A 9//5 = atr- :J( = ) el Conpl
i S A =R, .3
~ | o < e
\%,,/2 _ . J 5
s 5 -
= ——
| Z 5
C=len=1nr 32 > bh g
= 2 2z )
= 5 .\rf
= MIr=1257M =g o=l
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